
For technical support contact Joker Machine
2245 Kiowa Blvd N. Ste. 100, Lake Havasu City, AZ 86403
PHONE: 909-596-9690, FAX: 909-596-9693
sales@jokermachine.com, www.jokermachine.com

MADE IN USA     100222-D     10/26/2016

CB750 ALTERNATOR CASE COVERS INSTRUCTIONS

ALUMINUM BUSHING

O-RING
M6 ALLEN BOLT

(30MM LONG)

SIDE VIEW

(1.182")

HARDWARE:
(3)  M6 X 1 X 30MM BOLTS, BUSHINGS, & O-RINGS)

(1) M6 X 1 X 20MM LONG

(2)  M6 X 1 X 30MM BOLTS, BUSHINGS, & O-RINGS)
HARDWARE:

(1 BOLT FOR UPPER BOLT HOLE ON STOCK CASE)

(TRACK GAURD ONLY)

PART NO. 12-070 & 12-071

PART NO. 12-070, 12-071 and 12-072

PART NO. 12-072


